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80 22.5 20,0 18.7
85 21.0 18.8 17.7
90 20,0 17.8 16.7
95 19,0 16.9 15,8
100 18.0 16,0 15.5
105 17.1 15.3 14,5
110 16.3 14,5 -
115 15.7 — -
120 15.0 — _
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27 C/Py] 166~170 (75~T7)

%7 C/Pu] 193~195 (88~89)

25} C/Pv] 196~200 (89~91)
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- keal/kg %[ %[ B[ %l % %
2,600 ) 150} 17.0 — — — —
2,650 - — 13,7 [ 15,21 13.5 | 15.0
2,750 | 16,0 ] 18,0 — — . — —
2,800 - — | 14.5 | 16,0 { 14,3 | 15.9
2,900 | 17,01 19.0 - — — —
2,950 — — | 15,0} 16,9150 | 16.7
3,080 | 18,0 | 20.0 — - — -
3, 100 — —116,0]17.7 | 15,7 | 17.5
3,200 | 19.0 ] 21,0 — - - -
3,250 - — 1168 ]18.5]165|18.4
3,350 | 20,0220 — — - —
Scott(1969)
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Keal/kg % % 7% %] % %o
3,000~
3 100 | 17.0 ] 3,251 16.0 , 3,10 | 15.0 | 3.0
2,900~ ] | [
5,000 | 164 ] 3.15| 15,4 12,99 | 14.5 | 2,89
2,800~ ‘ .
“o00 | 16-7 | 3.01 | 14.8 12,87 {13.9 | 2.78
2, 600~ | \ :
o500 | 15:1]2.89 , 14.312.76 13,4 | 2. 67
2, 500~ \
o e00 | 14.5 | 278»137,265 12.8 | 2,56
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E 31 F2Ua|8 ZH0 ot sk 2EE

LA g F
o o & = s o]
A + |4 =
= 9 (%) 15 15 17
A g 2:500~2,700 2,500 12, 800~3,000
Z F5(%) 2,50 2,75 2,75

q () 0,65 0.60 0.¢0
4 & Q(n) 0. 40 0.40 0.40
& %_(/r){ 0. 40 0.40 0. 40
% zH(mg) 25 25 30
a8 2 =(r) 0.5 0.5 0.5
of  d(r) 20 20 20
2 F(n)) 9.0 9.0 9.0

({r)] 0.9 0.9 0.9

= 24 Bl
THE 4000 4,000 5,000
Bl el A() 2,000 2,000 2, 500

« D ICU)! 600 600 700

v EU); 12 12 12

7 K(mg) 0,24 0,24 0.24

# By(7) 2.2 | 2.2 2.5
FEHAL(r) 5.5 55 6.0
L.;.o]o}xi 20 20 .

. (o) “
=z (7)) 450 450 500
HEE B 10 004 0,004 0.¢05

Singsen(1962)
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‘zﬂ 4 F w4 A
(0~45%7) | (4~22F)

=t il (%) 18 13,5~ 14
o] 1 =zl (kcal/kg PE) 2.000 |1,760~1, 900
(ME) 2,750 12,400~2, 600 .

7] (%) 3~4 3~4

= () 3.5~5 6~7

AEd 2 (%) 1.0 .2

¢l (% )total 0.7 0.7&

(%)available 0.4 0.45

4 & (%) .4 0.4

= 2" g(r) 0.2 0.2

o5 E(n) 1.0 0.&

"h ZHm/kg) | 70 66

of AC r ) 50 22

) (O o7 ) 70 2%

¥ =B o7 ) 5.0 2,2

&£ ¢ =(my/kg) 1.1 1.1

¥ B} A(USP/kg) 13,000 13,200

Dy (ICU/kg) 1,100 1,100

E ({U/kg) 8,8 6,6

K (mg/kg) 2.2 2,2

2 oF  ul (kmg/kgd 4.84 4.4

# 1 & = d(mgrke) 6.6 .16

€ = & A » ) 15.4 15,4

wooo] o A( 2 ) 52.8: 48, 4

s #H F 4AC 7 ) 3.3 3.3

o] o EHC s ) 0. 11 0.11

Z g o ) 1,375 990

4 AC 7 ) 1,10 0.88

Bz C 7 ) 0,011 0.009

o} H] I Ak % %

¢ o il 1.2 0.70

=} o] 4 1.0 0. 50

) £ ¥ = 0.3 0.30

= | £ ! 0.4 0,25

421+ 44 &2 " 0.7 0.45

= B E 3 0.2 0.15

EY = o] 4 1.0 0,55

+ Al 1.4 15

o] = % A 0.6 0, 60

=] g o Es il 0.7 0. 60

sld o d+E B4 1.4 1.00

= gl 2 Y 0.6 0,55

el 2 0.8 0.70

Smith(1970)



